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SECOND LANGUAGE: ENGLISH

a. () v. (F) ». (4) 0. (9)

Directions (Q 1-6): Fill in the blanks to make the sentences meaning-
fully complete.

1. The accused .......... to the judge for mercy.

(a) asked (b) applied (c) demanded (d) appealed

2. You must ......... your career with all seriousness.

(a) pursue (b) direct (c) complete (d) follow

3.1 am feeling ......... better today.

(a) too (b) quite (c) very (d) fairly

4. Always attend .......... what your teachers say.

(a) on (b) to (c) over (d) for

5. She .......... the two candles in one breath.

(a) put down (b) put up (c) put away (d) put out

6. He stands .......... what he has done.

(a) upon (b) for (c) on (d) at

Direction (Q 7-9): Choose the word which can be substituted for the
given phrase/sentence.

7. A poem written on the death of someone loved and lost.
(a) Ode (b) Epic (c) Sonnet (d) Elegy

8. A person who does not believe in any god.

(a) Philatelist (b) Rationalist (c) Atheist

(d) Pagan

9. One who cannot die.

(a) Stable (b) Immortal (c) Perpetual

(d) Perennial
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